Name:____________________________  Date:__________
The Tales of King Arthur
Pop Quiz 1
Directions:  Circle the correct answer.  

1.  Arthur was raised by:


a.  Uther Pendragon

b.  Merlin


c. Ector



d. Kay

2.  Arthur’s adoptive brother is:


a.  Uther Pendragon

b.  Merlin


c. Ector



d. Kay

3.  Merlin retrieved Arthur from _____________ castle when he was a baby:


a.  Tintagel


b.  Camelot


c.  Parliament


d.  Cambridge School
4.  Arthur pulls the sword from the courtyard of:


a.  A School


b.  A Cathedral


c.  Merlin’s House

d.  Cambridge School

5.  Arthur’s magic sword is called:


a.  Lancelot


b.  Culdron


c.  Excalibur


d.  Siege Perilous

6.  Arthur beats Sir Pellinore with:


a.  Merlin’s Magic

b.  Lancelot’s Sword


c.  His Bare Hands

d.  A Potion

7.  The Round Table is given to Arthur from:


a.  King Tut

b.  King Leodegrance


c.  King Kong

d.  Lancelot

8.
The Siege Perilous is:


a.  A magic room in Camelot.


b.  A table that the knights sit around.


c.  A magic chair that only the best knight can sit in.


d.  A magic wagon that only strong knights can ride in.

9.  ___________ is the only knight that the Siege Perilous does not burn.

a.  Peony


b.  Percival


c.  Pellinore


d.  Poppins

10.  Pellinore’s son becomes a knight by:


a.  Robbing King Arthur


b.  Kissing Guinevere


c.  Stealing Arthur’s goblet

d.  Retrieving Arthur’s goblet from a man in golden armor.

11.  Lancelot falls in love with:


a.  Guinevere


b.  Arthur


c.  The Lady of the Lake


d.  Morgan le Fay

12.  Arthur goes riding in the woods with __________ and ___________ when he spots and boards a magic ship.


a.  Lancelot and Guinevere


b.  Morgan le Fay and Lancelot


c.  Kay and Ector


d.  Accolon and Uriens

13.  After Arthur and the two knights are drugged, Arthur wakes up in:


a.  a dungeon, chained to a wall.


b.  Camelot, in his bed.


c.  Guinevere’s arms.


d.  A courtyard, fighting a battle.

14.  _____________ steals Excalibur and gives it to Accolon.  


a.  Lancelot

b.  Moran le Fay


c.  Guinevere

d.  Arthur

15.  Morgan le Fay is married to Uriens but loves _________.


a. Arthur


b.  Lancelot


c.  Guinevere

d.  Accolon

16.  Arthur must fight against Sir. Ontzlake for:


a.  Sir Damas

b.  Lancelot


c.  Guinevere

d.  Accolon

17.  ___________ (the White Knight) must fight against Sir. Damas for Sir Ontzlake.


a.  Arthur


b.  Accolon


c.  Uriens


d.  Merlin

18.  Morgan le Fay set up the fight between the two knights in hopes of:

a.  Arthur dying
b.  Accolon dying


c.  Uriens dying
d.  Watching a fun battle

19.  Morgan le Fay is Arthurs:


a.  Wife


b.  Half sister


c.  Mother


d.  Daughter

20.  Of the choices below, what vocabulary word(s) would you use to describe Morgan le Fay and why? Use complete sentences.

Benevolent 
Innocuous

Duplicitous
Overt
Covert

________________________________________________________________________________________________________________________________________________________________________
21.  Morgan le Fay attempts to kill Uriens but _________, her son, stops her.


a.  Uwain


b.  Galahad


c.  Lancelot

d.  Mark

22.  Morgan steals ______________ from Arthur while he’s sleeping at the Abbey.


a.  Excalibur

b.  the crown


c.  the Scabbard
d.  a lock of hair

23.  Morgan sends a __________ to Arthur that bursts into flames.


a.  sword


b.  cloak


c.  biscuit


d.  hat

24.  Make a prediction based on the following:

-Merlin tells Arthur that a boy who is not born yet will take his kingdom from him.

-Merlin tells Arthur that terrible things would come of Camelot if he married Guinevere.

-Morgan le Fay sets up a fight in an attempt to trick and kill Arthur.
________________________________________________________________________________________________________________________________________________________________________
__________________________________________

